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1 AEHAESHAL] B A=

AR O AR SACKRS B30 EISEUAEALEN S 202 AAYER 7
149 A% Ao B8 A w8 FrRdsle] 9% Sareag 249 A, 89 v
m&;-q ko] 90%41 )73kl log 0.8l14 log

37517]'%}*3‘?](AUG[, Cmax)—‘g‘ 2 1H3Sso %ﬁ];qaé-]_gi% .
1.25 oy 2A] AETFHOT T3S 9l

Hl w9 7} a5 Fagrtas
% AUCy7r Cinax
v Tomax(hr) ti/2(hr)
(ug-hr/mL) (ug/mL)
o z=oF SEEAUE 8.668+1.892 5.842+1.306 | 0.50(0.33~0.75) 1.45+0.19
AN ek oheseted 8.249+1.898 5.683+1.987 | 0.33(0.23~1.00) 1.47+0.21
(U = A 2F6)
90% A= F7b log log
(71% : log 0.8 ~ log 1.25) 0.9106~0.9924 | 0.8267~1.0506
(AUCt/ Crnaxs tl/Z ; ;'L%}]\— %j\ji]'/ Trax 5 %‘OO]—%)]\—(EQ ‘?‘])/ 1’1=28)
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